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C:\Users\Your Name>pip install numpy
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import numpy
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import numpy as np
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print(np.__version_ )
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import numpy as np

arr = np.array([1, 2, 3, 4, 5])
print(arr)

print(type(arr))
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[12345]
<class 'numpy.ndarray'>
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import numpy as np

a =np.array(42)

b =np.array([1, 2, 3, 4, 5])

c =np.array([[1, 2, 3], [4, 5, 6]])

d = np.array([[[1, 2, 3], [4, 5, 6]], [[1, 2, 3], [4, 5, 6]1])

print(a.ndim)
print(b.ndim)
print(c.ndim)
print(d.ndim)
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import numpy as np
arr = np.array([1, 2, 3, 4], ndmin=5)
print(arr)

print('number of dimensions :

, arr.ndim)
el ) Cygue 4L IS 9>
[[[[[1 2 3 4]]]1]

number of dimensions : 5
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import numpy as np
arr = np.array([[[1, 2, 3], [4, 5, 6], [[7, 8, 9], [10, 11, 12]]])
print(arr[0, 1, 2])
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import numpy as np
arr =np.array([[1, 2, 3, 4, 5], [6, 7, 8, 9, 10]])
print(arr[1, 1:4])
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import numpy as np
arr =np.array([[1, 2, 3, 4, 5], [6, 7, 8, 9, 10]])
print(arr[0:2, 1:4])
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[[234]
[789]]
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i - integer

e b-boolean

e U-unsigned integer
o f-float

e cC-complex float

e m -timedelta

e M - datetime

e O -object

e S-string

e U -unicode string

e V-fixed chunk of memory for other type ( void )
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import numpy as np
arr = np.array([1, 2, 3, 4])
print(arr.dtype)
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import numpy as np

arr = np.array([1, 2, 3, 4], dtype='S')
print(arr)

print(arr.dtype)
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arr = nnp.array([1.1, 2.1, 3.1])
newarr = arr.astype(int)
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import numpy as np
arr = np.array([1, 2, 3, 4, 5])
x = arr.copy()
arr[0] =42
print(arr)
print(x)
import numpy as np
arr = np.array([1, 2, 3, 4, 5])
X = arr.view()
arr[0] =42
print(arr)
print(x)
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import numpy as np
arr = np.array([1, 2, 3, 4], ndmin=5)
print(arr)
print('shape of array :', arr.shape)
el ) Cygue 4 YL Ol giws (9,5
[[[([1 23 4]]]]]
shapeofarray:(1,1,1, 1, 4)
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arr =np.array([1, 2,3,4,5,6,7,8,9, 10, 11, 12])
newarr = arr.reshape(2, 3, 2)
print(newarr)
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import numpy as np
arr =np.array([1, 2, 3, 4,5, 6, 7, 8])

newarr = arr.reshape(2, 2, -1)
print(newarr)
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import numpy as np
arr = np.array([1, 2, 3])
for xin arr:

print(x)

import numpy as np
arr = np.array([[1, 2, 3], [4, 5, 6]])
for xin arr:

print(x)

[123]
[45 6]
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import numpy as np
arr = np.array([[1, 2, 3], [4, 5, 6]])
for xin arr:
foryinx:
print(y)
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import numpy as np

arrl = np.array([[1, 2], [3, 4]])

arr2 = np.array([[5, 6], [7, 8]])

arr = np.concatenate((arrl, arr2), axis=1)
print(arr)
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import numpy as np

arr =np.array([1, 2, 3, 4, 5, 6])
newarr = np.array_split(arr, 3)
print(newarr[0])
print(newarr[1])
print(newarr[2])

where b g o



import numpy as np

arr =np.array([1, 2,3, 4,5, 6, 7, 8])
x = np.where(arr%2 == 0)

print(x)
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import numpy as np
arr = np.array([3, 2, 0, 1])
print(np.sort(arr))
BAVCIN

import numpy as np

arr = np.array([41, 42, 43, 44])
x = [True, False, True, False]
newarr = arr[x]

print(newarr)

import numpy as np
arr = np.array([41, 42, 43, 44])
# Create an empty list
filter_arr=1{]
# go through each element in arr
for element in arr:
# if the element is higher than 42, set the value to True, otherwise False:
if element > 42:
filter_arr.append(True)
else:
filter_arr.append(False)
newarr = arr[filter_arr]
print(filter_arr)
print(newarr)
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from numpy import random
x = random.randint(100)
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from numpy import random
x = random.randint(100, size=(3, 5))
print(x)
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from numpy import random
x = random.rand()
print(x)
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from numpy import random
X = random.rand(3, 5)
print(x)
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from numpy import random
x = random.choice([3, 5, 7, 9])
print(x)

from numpy import random
x = random.choice([3, 5, 7, 9], size=(3, 5))
print(x)
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import numpy as np

a = np.array([1.0, 2.0, 3.0])
# Example 1

b=2.0

print(a * b)

# Example 2

c=1[2.0, 3.0, 6.0]

print(a * c)

np.zeros((2,2), dtype=np.int16)

import numpy as np
A =np.array([[6, 1, 1],
[4,-2,5],
[2,8,71])
print("Rank of A:", np.linalg.matrix_rank(A))
print("\nTrace of A:", np.trace(A))
print("\nDeterminant of A:", np.linalg.det(A))
print("\nInverse of A:\n", np.linalg.inv(A))
print("\nMatrix A raised to power 3:\n", np.linalg.matrix_power(A, 3))

import numpy as np

# coefficients

a = np.array([[1, 2], [3, 4]])

# constants

b = np.array([8, 18])

print("Solution of linear equations:", np.linalg.solve(a, b))

import numpy as np
normal_array = np.random.normal(5, 0.5, 10)
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print(normal_array)

H#H## Min
print(np.min(normal_array))
H### Max
print(np.max(normal_array))
##t# Mean
print(np.mean(normal_array))
### Median
print(np.median(normal_array))
Hit# Std
print(np.std(normal_array))

## Linear algebra

### Dot product: product of two arrays
f = np.array([1,2])

g = np.array([4,5])

np.dot(f, g)
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